7K F
HUREH S R e K 7K B 2 5 HURE AT WEHW: 20254 7 H 16 H
Fs i H BURERTE] | B fr PriERE K gs R &1E
1 2K i B 7.15  8:15| CFU/100mL ANEAS H A H
2 KgAK 7.15  8:15| CFU/100mL AN K H
3 B TR S 7.14  8:10| CFU/mL 100 17
4 {603 7.16  8:22 53 15 <5
5 VI E 7.16  8:22 NTU 1 0.15
6 I=RAIIR 7.16  8:22 / TR, TR "
7 IR 7 WA 7.16  8:22 / o o
8 |mELIRERFEE (LLO,iH)|7.16  8:22| mg/L 3 1.03
9 & (PANTt) 7.16  8:22| mg/L 0.5 0.05
10 —EMAR 7.16  8:22| mg/L / 0. 04
11 TE R 7.16  8:22| mg/L / 0. 02
PR PR TR RV K DAERRHEY  (GB 5749-2022)
N {44 7 /\E‘
K R
HURE A B e K 7K e 2 == HURE 5
5 i H BURERTIE] | B fr PR AE g R &
1 SR 7.15  8:15| CFU/100mL AN AKG H
2 K7 7.15  8:15| CFU/100mL ANEAS H Ao H
3 RISt 7.14  8:10| CFU/mL 100 0 K=
ERE5A
4 B 716 8:22|  fF 15 <5 NEPNSvES
VA . IR g8
5 VL 7.16  8:22 NTU 1 0.07 et
6 SRR 7.16  8:22 / TR Rk I it
, Ak
7 IR AT ILA%) 7.16  8:22 / xI e R
_ ANT6. b HAKT iy e
8 pH 7.16  8:22 / g - 7.88 e
T 1R,
9 |FERERERIRH(LLO,IT) (7. 16 8:22|  mg/L 3 0. 88 % /b T
5K B i) = FE b L it
10 —EMAR 7.16  8:22| mg/L  [30min, HJ k< 0.12 J S
0.8, RE=0.1 Ko
5 K B ) =
11 WA 7.16  8:22| mg/L  |[30min, HJ kH<2, 0. 08

£FE=0.3

PR AR AEAR S -

(DK A ARAE)

(GB 5749-2022)




